Math 114
Radicals & Rational Exponents Review
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Write in scientific notation.
[a] 10,000,000,000 [b] 238,000,000 [c]

Write in standard notation.

[a] 4.12x10° [b] 927 x10°
Simplify.
[a] (&%) [b] g’g’ [c]

Simplify. (Your answer should use only positive exponents.)

[a]  m* [b] s [c]

Write using fractional and/or negative exponents, and simplify.
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Simplify. You may write your answers using either radicals or fractional exponents.
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Rationalize the denominator, and simplify.
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Divide. Rationalize the denominator and simplify, if possible.
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Divide. Write your answer using fractional exponents.

Solve. Check your answers for full credit.

[a] 3/ =3 bl  Yeu-9=Y5-u  [c]
[e] 17-241-3z=9 [f]  g++/g+11=1

Simplify. Write your answers using radicals.

[a] NT2hH [b] \20c% 'y
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[12] Find the distance between the points (—2,7) and (-5,-2).
[13] Find the equations of the following circles.
[a] center = (—4, —3), radius =2 [b]
[14]  Find the centers and radii of the following circles.
[a]  (x=7)+(y+4)? =25 [b]
[c] x*+y*—6x+8y—-24=0 [d]
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center = (-2, 5), radius = 6

(x=6) +(y—8)* =100
X'+ > +4x+10y+12=0

[d]

[d]
[i]
[n]
[s]

9| =

/2 [e] =z

4
5

n [e] c

DELETEDgSN DELETED

—x*\2x [o] 615
24672 =23 + 446



[9]
[10]

[11]

[12]
[13]
[14]

7 2
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[a] =27 [b] u=2

[(fl  g=-2

[a]  6A°\2h [b]  2c*Fy* 5t
3,10 ~ 9.487

[a]  (x+4) +(y+3)*=4

[a] center = (7, —4), radius = 5

[a]

center = (3, —4), radius = 7

[c]

[b]
[b]
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f=32 [d  w=9
10a’3a  [d] 25-3y

(x+2) +(y-57*=36
center = (6, 8), radius = 10
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Math 114

Radicals & Rational Exponents Review


[1]
Write in scientific notation.



[a]
10,000,000,000
[b]
238,000,000

[c]
0.000000032


[2]
Write in standard notation.



[a]
4.12 × 10-6

[b]
9.27 × 105

[3]
Simplify.



[a]
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[4]
Simplify. (Your answer should use only positive exponents.)


[a]
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[5]
Write using fractional and/or negative exponents, and simplify.


[a]
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[6]
Simplify. You may write your answers using either radicals or fractional exponents.
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[7]
Rationalize the denominator, and simplify.



[a]
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[8]
Divide. Rationalize the denominator and simplify, if possible.



[a]
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[9]
Divide. Write your answer using fractional exponents.
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[10]
Solve. Check your answers for full credit.
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[11]
Simplify. Write your answers using radicals.



[a]


[image: image43.wmf]7


72


h




[b]


[image: image44.wmf]6


11


8


20


y


t


c




[c]


[image: image45.wmf]8


7


15


20


a


a





[d]


[image: image46.wmf](


)


(


)


y


y


3


5


3


5


+


-



[e]


[image: image47.wmf]j


d


6


64


3




[12]
Find the distance between the points 
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[13]
Find the equations of the following circles.



[a]
center = (–4, –3), radius = 2



[b]
center = (–2, 5), radius = 6


[14]
Find the centers and radii of the following circles.



[a]
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ANSWERS


[1]
[a]
1 ( 1010
[b]
2.38 ( 108
[c]
3.2 ( 10–8
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0.00000412
[b]
927,000


[3]
[a]


[image: image54.wmf]21


b




[b]


[image: image55.wmf]12


g




[c]


[image: image56.wmf]8


k




[4]
[a]


[image: image57.wmf]6


1


m




[b]


[image: image58.wmf]5


3


r


s




[c]


[image: image59.wmf]7


3


v




[5]
[a]


[image: image60.wmf]5


8


j




[b]


[image: image61.wmf]4


11


e




[c]


[image: image62.wmf]2


5


w




[d]


[image: image63.wmf]2


9


f




[e]


[image: image64.wmf]7


1


z





[f]


[image: image65.wmf]2


5


-


u




[6]
[a]


[image: image66.wmf]2


7




[b]


[image: image67.wmf]3


6




[c]


[image: image68.wmf]7


q




[d]


[image: image69.wmf]4


h




[e]


[image: image70.wmf]5


4


c





[f]


[image: image71.wmf]15


11


t




[g]


[image: image72.wmf]15


7


a




[h]


[image: image73.wmf]3


7


-


y




[i]
DELETED
[j]
DELETED


[k]


[image: image74.wmf]7


13




[l]


[image: image75.wmf]6


5


-




[m]


[image: image76.wmf]3


2




[n]


[image: image77.wmf]x


x


2


3


-



[o]


[image: image78.wmf]15


6





[p]


[image: image79.wmf]3


20


m




[q]


[image: image80.wmf]4


7


r




[r]


[image: image81.wmf]2


3


12


-



[s]


[image: image82.wmf]6


4


3


2


2


6


24


+


-


-




[7]
[a]


[image: image83.wmf]15


5




[b]


[image: image84.wmf]21


6


2




[c]


[image: image85.wmf]7


3


9


-




[8]
[a]


[image: image86.wmf]2


2




[b]


[image: image87.wmf]6


3




[9]
[a]


[image: image88.wmf]4


7


s




[b]


[image: image89.wmf]15


2


v




[10]
[a]


[image: image90.wmf]27


=


j




[b]


[image: image91.wmf]2


=


u




[c]


[image: image92.wmf]32


=


f



[d]


[image: image93.wmf]9


=


w




[e]


[image: image94.wmf]5


-


=


z





[f]


[image: image95.wmf]2


-


=


q




[11]
[a]


[image: image96.wmf]h


h


2


6


3



[b]


[image: image97.wmf]t


y


t


c


5


2


3


5


4



[c]


[image: image98.wmf]a


a


3


10


7



[d]


[image: image99.wmf]y


3


25


-



[e]


[image: image100.wmf]j


d


j


3


8


3




[12]


[image: image101.wmf]487


.


9


10


3


»




[13]
[a]


[image: image102.wmf](


)


4


)


3


(


4


2


2


=


+


+


+


y


x




[b]


[image: image103.wmf](


)


36


)


5


(


2


2


2


=


-


+


+


y


x




[14]
[a]
center = (7, –4), radius = 5

[b]
center = (6, 8), radius = 10



[a]
center = (3, –4), radius = 7

[b]
center = (–2, –5), radius = 
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